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Analysis of the factors affecting the consumption of domestic water in the center
of the Al-Sader and judicial Karkh

Abstract

This section includes an analysis of the factors which affect the consumption of
domestic water in the study area where they were counting the consumption of
domestic water either certified as a variable factors that affect water consumption
(Family characteristics of each house), they are considered independent variables were
described statistically.

It was the collection of data used in this study for a number of role that
randomly selected from the study area, and included characteristics of family, family
size, number of rooms, health facilities, air coolers, an area of the house including the
garden, wash the clothes and the number of times a shower and we have found that the
number of family members , number of rooms and the number of cars is the most
important variables in the request for domestic water consumption and affect him
considerable influence.

Also been dealt with two methods to study the relationship of the variables
affecting the dependent variable is firstly study the linear correlation and the second is
a simple linear regression analysis and multi.

In this study, the independent variables were studied, which is believed to have
an impact in the daily consumption of water as  follows:-
X1: Number of family members.

X2: Number of children. 1e number of times the shower.

X3: House space. lumber of times washing clothes.

X4: Number of rooms. the number of times a house cleaning.
X5: Number of bathrooms. the number of meals.

X6: the number of families the number of cars.

X7: Number of air coolers yarden irrigation.

the number of learners.

It was the symbol to the
dependent variable symbol (Y: the daily consumption of water)
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